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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is hon-zero and positive.
H Transect : Drillhole 16
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Relationship between stead'y-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 17
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
‘g : high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
- H Transect : Drillhole 17
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 18
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (When the slope is greater than unity)
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Final check for high velocity flow effects: .
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 18
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 19
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high-velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
- H Transect : Drillhole 19
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) Relationship between steady-state differential pressures squared and flowrate:
’ If relationship is linear, with the ordinate intercept nearly zero,
r there is no high velocity flow effect.
‘ H Transect: Drillhole 20
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' Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
i high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects: B
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 20
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
| “there is no high velocity flow effect.
. & H Transect: Drillhole 21
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:

High velocity flow effects are ﬁresent when the slope is non-zero and positive.
. - H Transect : Drillhole 21
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 22
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LLog-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects: -
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 22
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Relationship between steady-state differential pressures squared and flowrate:

If relationship is linear, with the ordinate intercept nearly zero, \,D'
“there is no high velocity flow effect. C/(gl;\o o
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 23
1.6 ( .
, . ! 2
~ i i, Cu'D' 05/0 [

W ogi(aP?) =(1.080810g:(Q) - 15617

2| R*=0.9086

= . 13

= a

= =3

= Zaal

7 >

, 3 .

1.1 4 ;
1.0 1 ‘
0.9 -
0.8 . . ; . : i — . . . .

2.25 2.30 235 2.40 245 250 255 2.60 265 270 275 2.80 2.85
' log4o(Q)

| O log(D(P2)) = Linear (log(D(P2))) = Linear (log(D(P2))) |

Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 23
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 24
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
- H Transect: Drillhole 24

700

18 g, & |
| 7d LD, 05/03/03
al log1o(A(P?)) =(1.0675l0g410(Q) - 1.3782 o
R’ = 0.906
16 4 . ) - ‘ o - L
N& 1.5 4
2
e
g 14 |
1.3 +—
1.2 4
o_~ | | |
1.1 . . - : . . = - ; : .
2.30 2.35 2.40 2.45 2.50 2.55 2.60 2.65 2.70 2.75 2.80 2.85

log40(Q)

| O log(D(P2)) — Linear (log(D(P2))) ==Linear (log(D(P2))) |

¢cl

€Cl



Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 24
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
4here is no high velocity flow effect.
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

1.6

high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the $lope is non-zero and positive.
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Relationship between steady-state differential pressures squared and flowrate:

If relationship is linear, with the ordinate intercept nearly zero, 0’77
there is no high velocity flow effect. cg\ L
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Log-Log plot of differential préssures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)

- H Transect: Drillhole 26
1.5 e :
2e ‘
. . llogio(A(P?) = 0.99710g4(Q) - 1.5251 5
R? = 0.9045
1.3
NQ.: 1.2
2
e
o))
3 1.1
1.0
0.9 1 :~
o) é
[
0.8 ; : | | ] - ; . : :
2.35 2.40 2.45 2.50 2.55 2.60 2.65 2.70 2.75 2.80 2.85 2.90

log10(Q)

K O log(D(P2)) =—=Linear (log(D(P2))) ===Linear (log(D(P2))) l

6C1l



I I

¥

vo[oe |4y wm

Final check for high velocity flow effects: .
High velocity flow effects are present when the slope is hon-zero and positive. “)
H Transect : Drillhole 26 do\o
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
Lhere is no high velocity flow effect.
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50 = , , : , : ~—
454 !_*_ , v 2\ _ 2
| | | A(P?) = 0.0001Q* - 0.0509Q + 17.615
o094 5 5| R2 =1
& 0APY) =4E-05Q7+0.0327Q
a 2 | — S S
. 25 | R =0. ‘ | |
% = L onl A(P?) = 0.0601Q
S 204 . R%*=0.9072 |
15 -
) =0.067Q - 4.0456/ R v
] 2 _ B E |
3 = | | 1] ] LR
0 o0 L 08 50 i.200p - 350 |, 300 380, ;dSnE. . dbG lmeo 550 600 650 760 750

Q, cc/min

| © D(P2) =—Poly. (D(P2)) —Poly. (D(P2)) — Linear (D(P2)) —— Linear (D(P2)) |

SRRCERRRRRRRRRNRRRRNEE

800

o€l

el



cel

Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 27
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| | _ . Final check for high velocity flow effects:
| High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 27
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 28
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Log Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects {when the slope is greater than unity)
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i i i ffects:
Final check for high velocity flow ef -
Hiah velocity flow effects are present when the slope is non-zero and positive.
? H Transect : Drillhole 28
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
.there is no high velocity flow effect.
H Transect: Drillhole 29
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 29
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_ Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 30
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 30
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Relationship between steady-state differential pressures squared and flowrate:

If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 31
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 31
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Final'check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
H Ttansect : Drillhole 31
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 32
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Log-Log plot of differential preséures squared vs. flowrate--used to identify the presence of
high-velocity flow effects.(when the slope is greater than unity)
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Final check for high velocity flow effects:
, High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 32
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Relationship between steady-state -differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
o there is no high velocity flow effect.
e = H Transect: Drillhole 33
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log1o(A(P?)

Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 33
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 34
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Log-Log plot of differential pressures squared vs. rowrate--used to identify the presence of
high-velocity flow effects (when the slope i is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 34
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
“there is no high velocity flow effect.
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log1a(A(P?))
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 35
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Final éheck for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
w H Transect : Drillhole 35
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 36
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Log-Log plot of.differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects: .
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 36
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,

., 14 there is no high velocity flow effect.

H Transect: Drillhole 37
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 37
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. Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhéle 37
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 38
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1 Log-Log plot of differential preésures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope.is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 38
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
« there is no high velocity flow effect.

. & H Transect: Drillhole 39
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

H Transect: Drillhole 39

high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present-when the slope is non-zero and positive.
H Transect : Drillhole 39
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» Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 40
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 40
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. . Final checl&for high velocity flow effects:
High velocity floxv effects are present when the slope is non-zero and positive.
H Transect : Drillhole 40

| 1.05E-01 ’
‘ « (-00E-01 ] 5 - APY)/Q =25E-06Q + 0.0887
e | R =0.0057
. 950E-02 +—u--—1 w I N B
| E Slopd 1= (D, CLY 05/bglo3
S ‘ :
O 9.00E-02 { - T '
z ©
= "
- Q 850E-02 -
A |
th | |
z = 8.00E-02 { -
= |
* A é
7.50E-02 { S .
7.00E-02 : K : - —O0——
150 200 250 300 350 400 450 500 550 600 650 760 750
Q, cc/min
| O D(P2)/Q =—Linear (D(P2)/Q) — Linear (D(P2)/Q) |
. _ -
BEEEERN P EL e r et
(4]




T2 o W SE SN S U UNE W S N S A -+ ¢ ¢ omd | =
el T T EErT1T1 144111110517 |
i l | | | ! . | % | | | | : | | 5 ,
é
i Relationship between steady-state differential pressures squared and flowrate:
‘ If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 41
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Log-Log plot of differential pressu}es squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects: .
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 41
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
.. there is no high velocity flow effect.

y H Transect: Drillhole 42
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 42

081

1.9
O
1.8 -
- log1o(A(P?)) = 0.996910g40(Q) - 1.0624
| R®=0.9038
g
=
o) |
15
1.4
1.3 1
O
1-2 T T T T T T T T T T T T
2.25 2.30 2.35 2.40 2.45 2.50 2.55 2.60 2.65 2.70 2.75 2.80 2.85 2.90
l0g40(Q)
| O log(D(P2)) =Linear (log(D(P2))) =Linear (log(D(P2))) |
Final check¥or high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
. H Transect : Drillhole 42
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 43

80 ; ‘ ‘ ‘
~ |A(P?) = 0.0003Q% - 0.1629Q + 39.449
70 - 2
R? =1
p 60
%, ol A(P?) = 9E-05Q” + 0.0473Q
= = R?=0.9192
Cl &0l |
7 < - A
EN A(P%) =0.1028Q
- R?=0.8627 |
; A(P?) =0.1128Q - 5.4683
R*=0.871 |
0 - : : : - : . : : : : . :
0 50 100 150 200 250 300 350 400 450 500 550 600 650 700
Q, cc/min
6 m D(P2) ==Poly. (D(P2)) ===Poly. (D(P2)) =—Linear (D(P2)) =—=Linear (D(P2)) [

Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects {when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 43
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, wijth the ordinate intercept nearly zero,
there is no high velocity flow effect.
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 44
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
N H Transect : Drillhole 44
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 45
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Log-Log plot of.differenti_al pressures squared vs. flowrate--used to identify the presence of
h|gh-veI00|ty flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 45
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
« there is no high velocity flow effect.
i H Transect: Drillhole 46
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 46
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 47
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the siope is greater than unity)
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Final check for high velocity flow effects:

i the slope is non-ze
i tv flow effects are present when
High veloctt H Transect : Drillhole 47

ro and positive.

3.6E-02 | |
V’ | o
3.4E-02 - ' ' | -
A(P?)/Q = 4E-05Q + 0.0056
= :
%’ £ 3.0E-02 1
Z| 8
-_‘?:’_ ‘fc_t% 2.8E-02
¥ e
' = g 2.6E-02 1
T o
< 2 4E02
2.2E-02 J
‘ ' ' ' 25 750
2.0E-02 5 o0 625 650 675 700 7
350 375 400 425 450 475 500 525 550 57
Q, cc/min
0 D(P2)/Q — Linear (D(P2)/Q) ——Linear (D(P2)/Q)
Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate iptercept nearly zero,
there is nohigh velocity flow effect.
- H Transect: Drillhole 48
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 48
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Final check for high velocity flow effects:
High velocity flow effects are.present when the slope is non-zero and positive.
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5.2E-02 -
O
5.0E-02 W
488027 A(P?)/Q = 4E-05Q + 0.0203
4.6E-02 - R’ =0.6826 3
£ 5|b
£ 4.4E-02
38
~ 4.2E-02 -
zZ
3| -8 4.0E-02 -
& 2 3.8E-02 |
2 o
< < 3.6E-02 4
L5l
&
3.4E-02 -
3.2E-02 -
3.0E-02 , O | | | . ; r - . : |

400 425 450 475 500 525 550 575 600 625 650 675 700 725 750
Q, cc/min

| O D(P2)/Q =——Linear (D(P2)/Q) —Linear (D(P2)/Q) |

661



RN\, W [re[or





